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INTRODUCTION TO PYTHON Chapter-11

A. T
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2
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ick (v') the correct option.
What will be the output of the following expression 22 % 3?

a. 7 b O
¢ 0 . dos O

. The statement using AND operator results trueif ................... .

a. both operands are true \@\ b. both operands are false \@\
c. either of the operands is true \@\ d. neither of the operands is true \Q\

Which one of the following has the highest precedence in a logical expression?

a. Addition \@\ b. Multiplication \@\
c. Exponential \D\ d. Parentheses \@\

. Which of the following symbol(s) is/are used for comments in Python?

a. // b O
c /% S do# O

B. Answer the following questions:

1.

w

What do you mean by expression‘a = 8"?
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